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Section A: Reading Comprehension

In this section, there are three passages, each with 5 questions. Read each
passage carefully. Then choose the best choice (a, b, ¢ or d) to answer the
questions under the passage. Choose your answer only based on the
information in the passage.

Passage 1

Academic incivility is generally defined as a learner’s undesirable act
interfering with a cooperative learning atmosphere. It can take many forms; in
addition to inappropriate, rude, offensive, or bullying behaviors, other acts of
incivility may include academic dishonesty, over-participation (or domination
attempts), and under-participation.

The following advice is suggested on how to reduce incivility with a proactive
stance and how to address it when it does occur. First, use the syllabus to set
expectations; introduce the respectful behavior and academic integrity
standards; also, define appropriate conduct and social expectations in advance.
Second, try to make a model by positive attitudes and behaviors; demonstrate
the behaviors you expect from your students. Third, reduce feelings of
detachment by encouraging polite acts and include everyone in the classroom
in activities; learners feel somewhat detached when they are denied of
opportunities to participate.

If frequent cases of incivility occur in your instructional setting, a simple
reminder of the expectations of the course will be enough to get a student on
track; otherwise, a private conference with the student will be required to
address the causes of the incivility and to clarify expectations. However,
inhibitory policies and penalties should be enforced only after thorough
exploration.

131. Which of the following should be performed before issuing any policies
about punishment?

a) sending a simple reminder of appropriate behavior

b) conducting a full investigation of the case

c) reducing feelings of offensiveness

d) enforcing cooperative learning
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132. It is inferred from the passage that .....................
a) over-participation is favored by the author

b) a simple reminder is rarely enough to stop incivility
c) students’ feelings of belonging should be appreciated
d) students’ respectful behavior should not be expected

133. The second advice suggests that teachers ............c......... .
a) provide learning opportunities for all participants

b) address the causes of the appropriate conduct

c) explain the rules and content of the course

d) Show the right behavior in practice

134. According to the passage, an individual consultation session with ..............
is recommended to discuss the causes of incivility.

a) those repeating undesirable behaviors

b) all students who take the course

c) learners denied of learning opportunities

d) the students unfamiliar with the syllabus

135. The author’s standpoint is .................. to reduce incivility.
a) to take preventive measures

b) to oppose social expectations

c) to take harsh punishment

d) to introduce new policies
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Passage 2

Computers are now a key part of children’s private worlds. “The Internet is
now an essential part of most young people’s lives,” says the study, with 85% of
5 to 16-year-old ones accessing the Net, and over a third (including a quarter of
5 to 6-year-old ones) owning a computer or laptop of their own. On average,
they go online just over four times a week, spending two hours each time.

The survey shows arise in the use of the Internet, particularly among younger
children, driven primarily by a boom in the use of social networking sites,
primarily Bebo. Communication, says the report, “has overtaken fun (e.g. online
games) as the main reason to use the Internet and study is now far behind”.
Almost three quarters (72%) of children have visited a social networking site,
and over a half have set up their own profiles sometimes lying about their age
to sidestep minimum age safeguards. Children as young as eight are now signing

up.

136. According to this passage, more than two thirds of 5 to 16-year-old young
people .....cocrrvercerceeennnnnn.

a) surpass others in the use of the Internet

b) spend 4 hours a week on the Internet

c) own a laptop or desktop computer

d) have the facilities to surf the Net

137. According to the passage, the increased use of the Internet by young
people is mainly because they .................. .

a) want to have a profile in the Net as others do

b) are increasingly using social networking sites

c) just want to have a hobby to spend time with

d) sidestepped minimum age safeguards to sign up

138. Why young people use the Internet is ............... in the mentioned survey.
a) not documented b) not addressed
c) exaggerated d) specified

139. Which of the following is implied from the passage?

a) Singing up of the youth should be totally avoided.

b) Occasionally, children are not honest about their identity.

c) Children are monitored when visiting a social networking site.
d) The figures and numbers about online games are up-to-date.
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140. It is inferred from the passage that .........................

a) children are not properly monitored when using the Internet

b) fun is the number one reason for using the Internet by the youth

c) children use the social networks mostly for their studies

d) young children are legally allowed to set up a profile for themselves
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Passage 3

We all know that there are different degrees of intelligence, but it is perhaps
less understood that the way we think about intelligence may be influenced by
the society we live in, and that even within one society, standards can change
over time. For example, since the rise of a scientific culture, the intelligence of
the scientist has been greatly valued. Therefore, scientific thinkers and
theoreticians like Albert Einstein and Hawking have been considered the most
intelligent.

Today, it is recognized that people have different degrees but also different
kinds of intelligence and that the ability to think scientifically (i.e. the capacity to
use logical deduction and factual evidence to solve problems) is just one kind.
For example, the ability to create things of beauty such as painting or a musical
composition demonstrates another kind of intelligence, which could be called
artisticintelligence. Political and social leaders all have interpersonal intelligence
— the talent to understand and to manage other human beings. The ability to
organize facts into a clear argument, to master languages, and to create stories
about imaginary people and situations can all be considered as separate kinds
of intelligence. From this perspective, the average person has different but
“normal” amounts of each type of intelligence, while a genius is a person with
an outstanding brilliance in at least one kind of intelligence.

141. The main idea of the second paragraph is that .. .
a) scientists are more intelligent than other people in the souety
b) the intelligence of a genius is different from a “normal” person
c) intelligence is represented in various types and different degrees
d) one’s intelligence is highly influenced by the society they live in

142. According to the passage, regarding an average person and a genius,
a) the former has at least one type of intelligence more than the latter

b) the latter is exceptionally notable in at least one kind of intelligence

c) the average person is remarkably more brilliant at scientific intelligence

d) both persons have all types of intelligence to a literally remarkable degree

143. Interpersonal intelligence refers to the ability to .............c.......... .
a) solve problems b) direct people
c) develop arguments d) cuialas
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144. Albert Einstein and Hawking .................... scientific culture.
a) laid the foundation of

b) introduced the idea of

c) owed their intellectual fame to the rise of

d) introduced their theories before the rise of

145. According to the passage, scientific thinking ability is considered as
................... of intelligence.

a) the main type b) only one example
c) the only manifestation d) the highest degree
Gols bzl
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Section B: Vocabulary Items

Read sentences 146 to 160 carefully. Then choose the best choice (a, b, c or d)
to complete the blank space in each question.

146. The manager was keen to ................ the diverse options of the newly
installed system, and make use of them to enhance the productivity of the
company.

a) discern b) dispatch c) disperse d) dismay
147. Scientists have reached a ............. by unanimously agreeing that all types
of vaccines can boost our immunity against the Covid-19 disease.

a) controversy b) contradiction

c) conflict d) consensus

148. In a court ruling, the family was entitled to insurance ................. for a
medical error committed by the hospital.

a) reimbursement b) management

c) admission d) confession

149. Some problem staff in our department regularly tend to ............... every
policy decision and hamper any imaginable progress.

a) consent to b) acquiesce in

c) collide with d) comply with

150. The learners need an ............... course, with long-time full-day instruction,
to improve their language proficiency.

a) abridged b) intensive c) intrusive d) abrupt
151. The Central Hospital next to our university ................... a wide range of
services, to help patients get access to all they need.

a) overlooks b) restricts c) hinders d) renders
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152. Following the rising inflation, the government adopted the policy of cost
.............. to reduce prices.

a) commencement b) containment

c) indulgence d) uplifting

153. Compared to the limited effort they make, some lucky learners may
achieve more than they .............. in the exams they take.

a) deserve b) conserve c) preserve d) observe
154. With the outbreak of the Covid-19 disease, rigorous effort was
undertaken by medical scientists worldwide to ............ the virus.

a) allege b) combat c) pervert d) peruse
155. Indoor air pollution is caused by the ............. of contaminants that come
primarily from inside the buildings, although some originate from outdoors.
a) accumulation b) accommodation

c) adjustment d) adhesion

156. Without many years of ................. experiments, researchers could have
never been enabled to obtain such impressive achievements.

a) malicious b) spurious c¢) arduous d) suspicious
157. The ...ccccceeuueeee of the new financial year signals the implementation of
novel organizational strategies.

a) contamination b) annihilation

¢) coincidence d) commencement
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158. The argument is full of fundamental flaws and suffers from .............. on
certain grounds.

a) irrationality b) precision

c) eminence d) intellectuality

159. The committee members found the presentation rather .............. and did
not arrive at a convincing conclusion at the end of the lecture.

a) precise b) dubious c) accurate d) relevant
160. You have no reason to be ............... of the future, just because the future
is equally unpredictable for everyone.

a) repressive b) appreciative

c) apprehensive d) representative
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Section C: Grammar Questions

Read questions 161 to 170 carefully. Then choose the best choice (a, b, c or d)
to complete the blank space in each question.

161. The guideline asserts that it is now necessary that every medical student
............... a mask in the clinical setting.

a) to wear b) wears

c) is wearing d) wear

162. “If I ............... you, | would totally remove sugar from my diet,” the doctor
said to the diabetic patient.

a) will be b) were

c) had been d) have been

163. The newly founded company was doing badly; ..............., it closed down.
a) owing to b) since

c) because of d) consequently

164. Recent research findings indicate that the COVID-19 is more deadly in

people with obesity ............... they’re young.
a) therefore b) even if
c) because of d) due to
165. The young scientist ............... in New Delhi, but her husband has just been
appointed there; so she doesn’t have any other choice.
a) had better not to live b) would rather not live
c¢) shouldn’t have lived d) mustn’t live
Gols gl
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166. A known Iranian company ............... to have been making a new brand of
the Covid-19 vaccine which can bring about long-lasting immunity.
a) says b) is saying
c) is said d) has said
167. The World Health Organization reports that more than one billion vaccine
doses............cc.c......... globally over the past few months.
a) have been administered b) are being administered
c) have administered d) are administered
168. According to the academic calendar of the university, the semester
.................. next month.
a) will ending b) end
c) ending d) ends
169. If penicillin had not been discovered, many soldiers ............... in the first
World War.
a) have died b) were died
c) would have died d) who would die
Gls bl
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170. Doing an experiment in the lab, .........cccccceeeeeunenenne. .
a) the microscope was broken by the technician

b) the technician broke his microscope

c) the technician’s microscope broke

d) the microscope is being broken
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The technician who was doing an experiment in the lab broke his microscope.
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Doing an experiment in the lab, the technician broke his microscope.
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